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"Communication" word has been derived
from which language?

(A) Spanish

(B) French

(C) Latin

(D) None of the above.

Encoding involves

(A) Deciding the content
(B) Deciding the channel
(C) Both (A) and (B)
(D) None of the above.

"Termination" letter is which type of
communication?

(A) Upward

(B) Downward

(C) Horizontal

(D) Crosswise.

If a student is not able to understand a lesson
taught by the teacher because of his short
height and sitting at the last bench. What
sort of a barrier is it?

(A) Variable barrier

(B) Preception barrier

(C) Technical barrier

(D) Physical barrier.

If a student is not able to understand the
message sent by the teacher because he/she
can not infer the short form or abbreveation
mentioned. Which type of problem is it?
(A) Encoding problem

(B) Channel problem

(C) Decoding problem

(D) All the above.

6.

10.

Environmental barriers are the same as
.................... barrier.

(A) Psychological

(B) Sociological

(C) Physiological

(D) Physical.

'Hug' is a type of non-verbal communication
which is studied in :

(i) Kinesics

(i) Proximics

(iii) Haptics

Which of the following option is correct?
(A) (i), (i1), (iii) are correct

(B) Only (i) is correct

(C) Only (ii) is correct

(D) Both (ii) and (iii) are correct.

In which of these problems is the actual
message lost in the abundance of transmitted
information?

(A) Selecting preceptions

(B) Over communication

(C) Under communication

(D) Filtering.

.................... means to impart understanding
of the message.

(A) Encoding

(B) Decoding

(C) Receiver

(D) Feedback.

Which of these is not a commandment of
effective communication?

(A) Clarity in language
(B) Listen poorly
(C) Home communication skills

(D) Adequate medium.
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11.

12.

13.

14.

What do you mean by IPA? 15.

(i) International Phonetic Association.
(i1) International Phonetic alphabet.
(iii) International Phonetic Alliance.
Which option is the correct option?
(A) All (1), (ii) and (iii) are correct
(B) Only (i) is correct

(C) Only (i) and (ii) are correct

(D) Only (ii) and (iii) are correct. 16

Diphthongs are also called :
(A) Pure vowels

(B) Vowel glides

(C) Problem sounds

(D) All the above.

17.

Which word has |2| sound in it?
G) T

(i) Cause

(iii) Judge

(iv) Vision.

Find the correct option : 18.

(A) Only (iii) is correct

(B) Only (iv) is correct

(C) Both (i) and (ii) are correct
(D) Both (iii) and (iv) are correct.

She gave me a nice present. In the word

'present’ where lies the primary stress? 19.

(A) '"Present

(B) Présent

(C) Both (A) and (B) are correct
(D) None of the above.

Choose the correct consonant cluster word :
(i) Graph

(i) Rough

(iii) Deaf.

(A) Both (i) and (ii) are correct

(B) Both (ii) and (iii) are correct

(C) Both (i) and (iii) are correct

(D) Only (iii) is correct.

Let's have a quick recap of this poem' :
How many strong words are there to form
the rhythm?

(A) 2 strong words

(B) No strong words

(C) 3 strong words

(D) More than 3 strong words.

How many syllables are there in 'actually'.
(A) 2
B) 3
©) 4
(D) 5.

'Where are you going'? In this sentence
which is the tone pattern?

(A) Falling
(B) Rising
(C) Rising-Falling
(D) Falling-Rising.

|-£2€ S| is the pronunciation of the word

fast in which variety of English?
(A) American

(B) British

(C) Indian

(D) All the above.



20.

21.

22,

23.

24.

25.

‘Meter' is the spelling in
(A) British English

(B) American English
(C) Indian English

(D) None of the above.

Which one is the correct sentence?
(A) I am loving it

(B) Ilove it

(C) I have been loving it

(D) All the above.

She is very keen ..o modelling
(A) To take up

(B) On taking up

(C) Taking up

(D) None of the above.

Today everyone wishes ...................... money
quickly.

(A) Earn

(B) To earn

(C) For earning

(D) None of the above.

How long you .............. be in this job?
(A) Have you had
(B) You have been
(C) Have you been
(D) Are you being.

One of the teachers is arrested yesterday.

a b c
Where lies the error in this sentence?
(A) Part a
(B) Part b
(C) Part c
(D) No error.

26.

217.

28.

29.

30.

Both the brothers love one another

a b c
Where lies the error in this sentence?
(A) Part a
(B) Part b
(C) Part c
(D) No error.

Neither of the two brothers has to brought
a b

their bedding.
c

Where lies the error in this sentence?
(A) Part a

(B) Part b

(C) Part c

(D) No error.

Besides studying he is also working

a b c
somewhere.
Where lies the error in this senetence?
(A) Part a
(B) Part b
(C) Part c
(D) No error.

I am assured .................. his help in need.
(A) about

(B) for

(C) of

(D) at.

Nobody was annoyed .................. his friends
on account of their misbehaviour.

(A) at

(B) with

(C) from

(D) for.
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31.

32.

33.

34.

3s.

We usually give our servants the old clothes
WE CaSt .evveeeeeecieiene,

(A) Off
(B) Aside
(C) Away
(D) Out.

For the unity of the country discipline among
people is called ................

(A) Forth
(B) For
(C) Out
(D) Away.

My friend is quite hard-hearted. The word
hard-hearted stands for

(A) Emotional
(B) Cruel

(C) Rude

(D) Sentimental.

His popularity is on the wave. 'On the wave'
stands for

(A) On the heights

(B) Stand still

(C) Verge of eruption
(D) Gradually declining.

He was in doldrums after the quarrel with
his brother. Here 'in doldrums' stands for

(A) Jubilant

(B) In low spirits
(C) Angry

(D) Excited.

36.

37.

38.

39.

40.

If you read between the lines. You will
appreciate what the writer writes? Here 'read
between the lines' means

(A) Can read leaving lines in between
(B) Can read a lot quicker
(C) Know what the writer thinks

(D) Can read and write in the language.

I want to buy a good pen. Can you suggest
ME A cooerveeieenenne shop?

(A) Stationary
(B) Stationery
(C) Symmetry
(D) Cemetery.

He joined late after the lamp ....................
ceremony.

(A) Lightening
(B) Lighting

(C) Lightning
(D) Lightling.

After the dinner, I love to have ................
(A) Desert

(B) Dissert

(C) Dessert

(D) None of the above.

She advised that I ......cccvevvvvvrnnnene. curtail
expenditure.

(A) Should

(B) Shall

(C) Should have
(D) Must.



41.

42.

43.

44.

45.

She ..o (know) me since 2004.
(A) Knows

(B) Has known

(C) Has been knowing

(D) Is knowing.

One must keep one's promises. The passive
voice of the sentence will be :

(A) One's promises are kept
(B) One's promises were kept
(C) One's promises must kept

(D) One's promises must be kept.

It is impossible to do this. The passive voice
of this sentence will be :

(A) Doing this is impossible

(B) This must not be done

(C) This is impossible to be done
(D) This can't be done.

..................... and .................. are cultural
variables in the communication process.

(A) Ethnicity and physical appearance
(B) Attitude and ethnicity

(C) Thought patterns and language
(D) Ethnicity and language.

The strong personalities are those who do
not have :

(A) Strong will power
(B) Strong determination
(C) Motivation

(D) Lack of confidence.

46.

47.

48.

49.

50.

Which of the following is not the
characteristic of an extrovent presonality?

(A) Sociable

(B) Leadership power
(C) Aggressive temper
(D) Day dreamer.

Personality is a patterned body of
(i) Habits

(ii) Attitudes

(iii) Ideas.

Which option is correct?

(A) Both (i) and (ii) are correct
(B) Both (ii) and (iii) are correct
(C) (1), (i1) and (iii) are correct
(D) None of the above.

Your description of who you are as a person
is your :

(A) Self awareness

(B) Self esteem

(C) Self concept

(D) Self disclose.

Which of the following is not a characteristic
of an introvert personality?

(A) Self-centered
(B) Conservative
(C) Sociality

(D) Submissive.

The term 'eros' is related to
(A) Life instinct

(B) Death instinct

(C) Fear instinct

(D) Natural instinct.
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ANSWER KEY - Skill Instructor -Soft Skill

1.C 26.C
2.C 27.C
3.B 28.D
4.D 29.C
5.C 30.B
6.D 31.C
7.D 32.B
8.B 33.B
9.D 34.D
10.B 35.B
11.C 36.C
12.B 37.B
13.B 38.B
14. A 39.C
15.A 40. A
16.D 41.B
17.B 42.D
18.B 43.C
19.A 44.D
20.B 45.D
21.B 46.D
22.B 47.C
23.B 48.C
24.C 49.C
25.D 50. A




